Bl

| want to go to the party I have to finish my homework.
Answer:

She didn't study for the test she failed.
Answer:

| love pizza my brother prefers burgers.
Answer:

He is not only intelligent also very hardworking.
Answer:

We can either go to the movies stay at home and watch TV.
Answer:

| went to the store | bought some milk.
Answer:

She is neither tall short.
Answer:

He is tired he still continues to work.
Answer:

I will go to the beach it's sunny.
Answer:

He is rich he is not happy.
Answer:




Answers

| want to go to the party I have to finish my homework.
Answer: but

She didn't study for the test she failed.
Answer: so

| love pizza my brother prefers burgers.
Answer: but

He is not only intelligent also very hardworking.
Answer: but

We can either go to the movies stay at home and watch TV.
Answer: or

| went to the store | bought some milk.
Answer: and

She is neither tall short.
Answer: nor

He is tired he still continues to work.
Answer: but

I will go to the beach it's sunny.
Answer: because

He is rich he is not happy.
Answer: but



